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Ex1:Draw Free — body diagram for the 50 N sphere shown 1n fig.




Ex2:Draw Free — body diagram for the 50 IN sphere shown 1n fig.

ol

S>3 F =0
T cos(75)— R, cos(35)=0
T cos(75) = R, cos(35)

- zgzﬁ‘:; R, =3.165R, ... (1)
+T> F, =0
Tsin(75)+ R, sin(35)—50=0
Tsin(75)+R;sin(35)=50 ........ (2)



Sub.Eq.(1)into Eq.(2)

(3.165R, )sin(75)+ R, sin(35) =50
3.63R, =50

R, =13.774N

Sub.R, into Eq.(1)

T =3.165(13.774) = 43.6N



Ex3:Draw Free — body diagram for the ropes system shown in fig.




Ex2: Detenmne the reactions at the points { A ) and ({ B ) | the angle beam was m
equilibriom state as shown m fipuare.

SO0 IT
S0 T9
o Lo = am o L0 &
A a.lr[ - - |
asof T
I --I:: ..... N:H'."“_*-.._
Sy
b=
15w 15 m
B
T i
Bt - T

Solution:

EM(A)Y=0

S00* 10 —-—MN*15=0

N =5000/715=33334 N
EZFy=0

Ay + N =500 =10

Ay + 333.34 — 500 = ()
Ay = 16667 N
ZFx=0 ,Ax=0

RA =Ay = 16667 N



Ex3: Deternrmme the tensiom foaces ([ T1) and { T2 ) in the equmbbesmmm system shoosm
m fgure.

Solrbon:
ZFx=0

Tl . cos(0)»+T2 cos(60)—2000cos(15)=0
T1 +0.5T2-1931.85=0 ........ (1)

2 Fv=0

T1.sin(0)+T2.sin(60)—2000 . sin({ 15)— 100=0
0.866 T2 —617.63 =0

T2 =713.2 N

Subs. in (1)

Tl =1575 N



Ex: Determine the tension in each cord shown in fig. (TA, TB, TC, TD).

40 N

135°

120

Tc=3464 N




